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1, Justify that J_'\'r_ =?\l"ﬂb by letting a=25 and b=4.
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Express in simplest radical form.

/
NI EN or 0
=53 = 201 2 @
=T =7
z- %
o~
o 36 B s 3m
2 [ES 4
= _‘?‘_ﬁi :3,(_:91
I
=09
Sep 1-4:32 PM
2| e
Find the discriminant and then take its square root,
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15. Factor and check: 8x° + 125.
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Requiz by end of week
Thursday Quiz 2 (Days 4-9)
Monday Quiz 3 (Days 11-12)
Next Wednesday Test

Tues 9/24 1st Math League
Meeting in LGR 2:30pm

Sep 17-10:09 PM

1-11: Solve Quadratic Equations Using the Quadratic Formula

If we have a quadratic equation that is not easily factorable, we can solveit by using the

quadratic formula. Try solvingthis by factoring: 2 3x2+5x-1=0

‘What do younotice? /5 j — 9

VI
https:/'www.voutube.com/'watch?v=2Ib A BbiU6Zc (To mumwn <

http://www.youtube.com/watch?v=08ezDEk3qCg

http://www.youtube.com/watch?v=z6hCu0EPs-o

You should recognize the expression under theradical = bl— H . ) .
‘We call that the i Sdesprna =Eé and will find it first.

Let’s use the quadratic formula to solve the following equation. Find the
discriminant first.
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Find t@e functions or the roots of the equations using the
quadratic formula. Leaveall solutions in simplest radical form.

Note: Some can be solved by factoring, but we will use the il—la dr atlwrmula
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You canuse the quadratic formula to solve real-world problems modeled by
quadratic functions.

6. Ina shotput event, Jenna tosses her last shot from a positionofabout 6° above the
ground with an initial vertical an+ velocity of 20 fi/sec. The height of the shot
is modeled by the function /%) = -161” + 20¢ + 6, Where t is the time in seconds after the
toss. How long does it take the sground‘? Roundto the nearest tenth.
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